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1. Choose the correct option/Answer the
following : 1x8=8

(a) As per the 2018 Statistical Update of
the Human Development Report of
the UNDP, India’s position is
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political parties
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(h) Who is
the chief ex
' pon
doctrine of unbalanced gerlz)twt(ilf'r’ &

2. Write sh
ort note
following : S on any four of the
4x4=16

(@) Struct
ural ch
an .
development proce Si-‘:s in the

(b) Com ‘s
position ; ;
Tidia of national income in

c
(c) Types of unemployment

(d) Sources of economic growth

(e) Difference between b

unbalanced growth g alanced gapg

trategies
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4. (a)

(b)
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Or

Discuss critically per capita income
as an index of development. Also
discuss how Human Development
Index (HDI) is a better index of
development as compared to per

capita income.

briefly the causes and

Discuss
f underdevelopment.

features O

Or

ic features of Indian

Discuss the bas
veloping economy.

economy as & de

rty. What are the causes
of poverty in India? Discuss the
initiatives of the Government of India
to tackle poverty. Also discuss
why the steps adopted by the
Government of India to tackle

poverty have failed to achieve the

desired result.

Define pove
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7. (a) Critically discuss the neo-colonial

dependence model. 14

Or
(b) Discuss how Myrdal’s model can be

used to understand the perpetuation

of the development gap and

divergences between North and

South or between ‘centre’ and

‘periphery’. 11
* kK

P9—7000/256 5 SEM TDC ECO M 1



